‘Honors Math 2 Name LEY
HW: ODM Midterm Review

1. On a separate sheet of graph paper, graphy > x? + 2x + 1and y < x2 - 4x + 4 and find the
intersection.
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2. Solve: Vx+2 =x
Yt2=x*
O xt-%-2

0= (Y- %) x:Zor@
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4. Solve: I3x+1 +10=5
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A painting’s original value when purchased was $350. Six years later, it was worth $429.20.

Find an exponential equation to model the information. Then, find the value of the painting
ten years after the purchase. 350 = 429 .2p°“
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6. Find an equation in point ra:r'io form with the points (1, 5) and (4, 30). Round your 'b" value to
1= x ¥, "
three places. 5 "::,3° © 5 y=30(l.8 |'+\§’°_'l‘ . o
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In 2010, you put $1500 into an account earning 7% annual interest. In what year will the
account be worth $2000? 2050 = |S o0 ( [.O ?_)X

)
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Radium has a half-life of 1620 years. Write a function for a 3 mg sample. Find the amount

of radium remaining after 50 years. -2(x\ Y20 _ 6%\ L20
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9. Solve for xandy: |3~ | _ 1 X=0
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10. Simplify: {/1 0x’y’ 0{/60xy8 _ quOO x® :j“ - (Z 00 :13 }




11. Describe how the parabolay = -(x - 4)2 + 3 is shifted from y = x2,
Grefed oer x-axis, cigwt U vp 3
12. Sketch the graph of the function on a separate piece of paper. y =x? + 15x + 54
a. Find the x-intercepts. (4,0 ) ( -lo) ©) (xta)( x t)
b. Find the axis of symmetry. Y:-7.5
c. Find the vertex. (-7.S ,-2.25)
d. Find the y-intercept. (o, Su)
e. Isthe vertex a max or amin? 1N

13. Find the equation of a quadratic function with intercepts at (-2, 0) and (4, 0) and a
vertex at (1, 6).
e ke (x + D) (x-4) 3:'7/3(x #2) x-4)
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Factor and find the solutions. i
14.2v*+1lv+5=0 2:6=10 a4\ =0

(2v24+ lov)-(v-fg)so 10 41= W i
24N +8) 41 (v¥S) =0 —» (v (v§)=o0

15.7a°+53a+28=0

Fati=v

(7a*+4a) + YGa +28%0 A
a(Fa -N)( +F(Fatd)z0 = @rH(Fath) [a:-“'/?}
R

16.16b2 + 60b - 100 = 0
y(4v® +1Sb-25) =0 S Y (Ub-S)(otS)=0

H(qwnob-—cb-ﬁ):o/_ 4b-s>o (525
U (U (b+s)-S(b+SH) =0

Find the discriminant and tell the number/type of solutio

17.62+16b+64=0 e , :
162 - (4. [-wt) o) || ceal carional solohen|

18. x°-4x+24:=0 . '
Tmag), \uRoas
(-q)*,(q.l-w)‘ D [M*J ey 3° !
19.2Kk? + 22k + 60 = 0 orel |
2 . rie) . Fammne
2(er+ae+30d)  (N7-(yY.1-39) -}B E uso\“@

20.The following function models how much money a certain company makes after a certain
amount of time. At what time did they make the least amount of money?

v(t) = 800 - 28t + 25t £-66
Lo fnd x-valve of He o (VErex)



21. It is a law of physics that when a beam of light strikes a mirror, the
angle of incidence (£ACB) and angle of reflection (ECD) are equal. So
in order to find the height of a tree, you place a mirror 3 feet in front
of you on the ground and 12 feet from the base of the tree, as shown.
The mirror is placed just so the light from the top of the tree hits the
mirror and reflects into your eyes. Find the height of the tree, using a

proportion. %_ _ _Z(_ 3)( _ __}2
b
Simlar D's have 3 G - Zq _F\.’-J
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22. Find x and y if AABC ~ APQR, m2R = 5x + 70, m£C = 24x - 25, m.P = dy+2, mZA=Xx+y.

Qe Q 24x-2S = S%470  yytp2: x4V
24%-25 l1ax=49S Yya2: Sy
,Sx+39 . =
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23. Given that H is between J and K, JK = 48, JH = 4x - 15, and HK = 3x + 3, find the value of X,
the length of JH, and the length of HK. Yx-s Ix +32 yx-IS+3x +3 =48
e > —i —
Jgh = 19.9 i 8) | N Fx-12:=4¥%
Bz 2% T N— Fx =0
LYg ¥ = bO/_‘,_
24. Find aand b in the figure. N v or €.b
os¢
G=20° ‘
b=30" I
25. The vertices of a triangle are D(-2, 2), E(-2, -3) sat ‘
and F(5, -3). Graph and label the image with a % E
reflection over the liney = —x. Narge the image AN .
vertices below. (X,9) -7 (=Y~ IEEEE EN \\ ‘ *
> (2,2 F_(3,2) F_(3,-5) NANERN
Write the algebraic rule for a reflection over y = —x. AEREAY ¢
o L -
- ) (o, wie) \‘P
26. Graph and label the points J(-2, 2), K(-3, 1),
L(2, 1) and M(4, 3) and then rotate the figure TT¥ T ™M
270°. Graph and label the image points, and =¥ ] T
write their coordinates below. Then, write i e "
the algebraic rule for the transformation. 5 5 4 5 b b U114
F_A{4;2 p_ {1.3) aul L
L_,-2) mw_G@G3,-Y) ot
Write the algebraic rule for the rotation 270°: v
(¥, Y4) 5 (y_.—x)




27. Find the value of x. & 9% + 6 2% +b = 3)(..(.,
ysosce\es V

pu—

T 3x—6

28. Graph AABC with A(5, -3), B(2, -4), and C(1, 1),
then graph the image of AABC after the 3 L

translation of < 4, 1 > then reflection over the x-axis. 1C
T\\ 50 \
Label all your points then, write the coordinates IEEEEE ThY
of the final image below. \ w7 B'
YN

in = ha =3 —

Image A’ (q -2) @' (6, -3) c (5 2)
B la2) 8" (e (%D

29. ASAM = ALET. If SA=x?+3x,LE=x+35and ET = 34. Find SA.

SA=(5)%3s) =Uo) o

v
+
30. Find the value of x. S ssosceleS S m
3x -9+ Ux=\&° x%+3x = x+3¢
Fx =18 %49 - 35 - O
x=27% (x+3)( x-S)=°
X = 4? orS
31. Solve for x. (hint: use logs) a
a 20"%:5.’)‘55‘-lq b. _5;_6sz_2$_0, x\oj b =loglY
70 - / logY
~by ‘09 20 = Io&\iq B— ’03)‘ =y 3\°J E
Xz Sgge0 T = .25 HY
32. Solve the inequality and write yo ' tion. 023x’-2x-5 —
‘ _,‘ﬁ“““‘ > Ex ,"‘xcg/S_} O‘:?,x7'+?,x-€x-5
@ (® /3@ < cher st porats 07 3x (x+) ~S(x+)
33. Solve forx. 0=x"-4x-8 (3)‘ S X x 1)
Cobtlprmae YRR G (R \ bow By K
X= 20 200 = Y4tlJuyg . Y* U4z :
34. Find the domain and range for each function. B z Eackh would navt
a f(x)=3"- b. g(x)=log(x+7)-9 2 A's with
Domain: __( =27 'o) Domain: __(—F,99) C"”fgfj;?;hygm%&
Range: __ (-4 °O\ Range: _ (- -o) con ‘Ej

Asymptote: =~ Asymptote:
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